
Configuring Control Scoring

For the control score, Resolver shows the weighted average score of the subcontrols. The RiskVision solution can
calculate the score as follows:

Sum (SC score *
SC weight) 
total weight

Where SC score is the subcontrol's normalized compliance score, SC weight is the value that you assigned to the
subcontrol, and total weight is sum of all the subcontrol weights.

In questionnaire questions and for manual subcontrols, you can specify a weight for each question.

The score calculation for each question does not consider weight.

The score per question = {selected choice score} /Max of {all choice scores}

The weight factor is used when calculation the average score for a questionnaire.

The score per questionnaire = Sum {question score} * [{question weight} / Sum{question weight}]


